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General Instructions :

Read the following instructions carefully and follow :

(i)
(ii)
(iit)
(iv)
(v)
(vi)
(vii)

(viii)

42-1

The question paper consists of two parts.

Part - I is compulsory for all.

Part - II shall be attempted as per the chosen wing.

All questions are compulsory. However, internal choices are given.
The paper consists of 1, 2, 4 and 6 mark(s) questions.

The answer to 2 marks questions should not exceed 50 words.

The answer to 4 marks questions should not exceed 150 words.

The answer to 6 marks questions should not exceed 250 words.

PART -1
(Common Subjects) (49 marks)
SECTION - A

Choose the correct option : 11x1=11
1) How many Articles of the Constitution deal with the Directive

Principles of State Policy ? 1

(A) 16 B) 20

) 8 (D) 10

(ii) When a platoon drills as a separate unit and in a column
formation, the platoon leader’s position is : 1

(A)  Four steps on the left flank, and centered on the platoon.
(B)  Six steps on the left flank, and centered on the platoon.
(C)  Four steps on the right flank, and centered on the platoon.
(D)  Three steps on the left flank, and centered on the platoon.

(iii) The strength of the guard for the Guard of Honour for the

President of India is : 1
(A) 100 (B) 120
(C) 150 (b) 130

(iv)  While taking aim through a -22 Rifle, the tip of the foresight must
be aligned in the centre and in level with the shoulder of the
of the backsight. 1

A U B) T
) X D) Y
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(ix)

(x)
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(v)

(vi)

(vii)

(viii)

(ix)

(x)

(x1)

#

The normal rate of fire of -22 Deluxe BA Rifle is : 1
(A) 05rounds per minute (B) 10 rounds per minute
(C)  15rounds per minute (D) 20 rounds per minute

Assertion (A) : Weapon training is a very important component of
the NCC programme. Training of shooting with
rifles is an integral part of this programme.

Reason (R) : Shooting teaches a person precision, accuracy,
co-ordination of body movement, patience and
confidence which all help to make him a better
man in public life. 1
(A) Both Assertion (A) and Reason (R) are true and Reason (R)
is the correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R)
is not the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

The method of removal of fuel or combustible material by either

segregation of fire or unburnt fuel is known as : 1
(A)  Cooling (B) Starvation

(C)  Smothering (D)  Freezing

Sevagram Yojana was started by : 1
(A) Mother Teresa (B) Baba Amte

(C) Mahatma Gandhi (D) Anna Hazare

There are main types of drugs affecting the central
nervous system. 1
A 3 B) 4

) 2 (D) 5

During parasailing, which instrument is used for gauging the
ascent and descent of the pilot ? 1
(A) Carabiners (B)  Parachute

(C)  Relay device (D) Variometer

What is the minimum age for undertaking parasailing ? 1
(A) 16 years (B) 21 years

(C) 20 years (D) 14 years

5 P.T.O.
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SECTION - B

(a)  What do you understand by interpersonal relationship ?
OR
(b)  Why is choice of words important in communication ?

Write all the four modes by which fire can spread.

Write the full form of the following :
(1) INGO (ii))  BINGO
(iii) RINGO (iv) ENGO

Describe how the National Cadet Corps can help in unifying India.

(a) How are air-conditioners responsible for depletion of the ozone
layer ?
OR
(b)  What comprises e-waste ?

As a citizen of India, which national interests do you think are the
prerequisites for the nation’s growth ?

(a)  When is ‘wheeling’ used ?
OR
(b)  Define drill.

(a)  What is the composition and strength of guard in the Guard of
Honour for the Vice President and Prime Minister of India ?

(b)  To whom are the Rashtriya Salute and the General Salute given ?

(a) Explaining the laws of aiming in brief.
OR
(b) Why is Weapon Training an important component of NCC training ?

Explain the following safety tips for young parasailers :
(1) High winds

(i)  Altitude

(iii)  Visibility

(iv)  Weight restrictions for parasailers

# 7 P.T.O.
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(a)  You are a food inspector of a town. Which points would you check
in food handlers working in the restaurant ?
OR
(b)  You are attending a National Cadet Corps camp. Your friend has
been bitten by a dog, which could be a rabid dog. What first aid
would you give to your friend ?

SECTION -C

Read the paragraph and answer the questions given below :

The Guard Commander falls in the Guard 15 minutes before the
appointed time for Guard and completes the adjustments before the
guard mounting NCO falls in the Guard in two ranks. The Guard
Commander is on the right and Assistant Guard Commander on the left
of the front rank. The Guard NCO is twelve paces away from the Guard.

(a)  What is the position of the Guard Commander during the above
given procedure ?

(b)  In how many ranks does the Guard fall in ?

Read the passage and answer the questions :

The prisoners arrived at the command post almost at midnight. Towards
the end of his interrogation, the Brigadier enquired from the Corporal,
“You seem to be a seasoned soldier. How come, you gave yourself up even
when you were not wounded; not a very honourable action by a good
soldier.” The corporal was more than willing to explain and gave his
story, “Our commander was right in front when the counter-attack
started. Holding his sten in his one hand, he was encouraging us to wipe
out your troops and recapture ‘Badly’. When the Indian troops opened fire
with machine guns, our commander immediately took cover behind the
trunk of a huge pine tree. Standing in that sheltered position, he waved
his sten gun and ordered us to rush forward. But very soon we also
started taking shelter behind the pine trees. I was unlucky to be captured
by your patrol before I could slip away like others, down the slope and
return to our base.” Here was a sure victory, on the plate, for the
counter-attacking force, but the commander was unable to set the right
example. Good or bad personal example by a leader is most infectious. It
is because of this that a Persian saying conveys a very stark truth : “If
the king plucks one apple from the public garden, the public will take
away even the roots.”

# 9 P.T.O.
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(a) At what time did the prisoners arrive at the command post ? 1
(b) Name the hill top that was attacked and captured. 1
(c) Why did the corporal take shelter behind pine trees ? 1
(d)  What does the Persian saying convey about the leadership trait ? 1
(e)  Who interrogated the corporal ? 1
(f) Who opened fire with the machine guns ? 1
PART -1I
(Specialized Subject) - (Army Wing) (21 marks)
SECTION -D

Choose the correct answer : 5x1=5

1) What is the age criteria for joining the Indian Military Academy ? 1

(A) 16 to 195 years (B) 16-5to 19 years
(C)  19to 24 years (D) 17-5to0 19:5 years

(i1))  Which of the following is a constant factor ? 1
(A) True North (B)  Grid North

(C)  Magnetic Variation (D)  True Bearing

(iii) The smallest fighting unit of an Infantry Battalion is : 1
(A) Platoon (B) Company
(C)  Section (D)  None of the above

(iv)  The strength of an Infantry Battalion is : 1
(A) 20,45, 640 (B) 20,42, 794
(C) 18,37, 542 (D) 22,42, 690

# 11 P.T.O.
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(v)

(a)

(b)

(a)

(b)

Assertion (A) : In battle, an infantry battalion is vulnerable to
tanks, artillery, air attacks, mines and automatic

weapons.

Reason (R) : Infantry battalion overcomes this vulnerability by
careful deployment, digging, camouflage and
skilful use of ground. 1

(A) Both Assertion (A) and Reason (R) are true and Reason (R)

is the correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R)
is not the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

SECTION - E

Name any two Gallantry Awards which are awarded for displaying
bravery in the face of enemy during wartime. 2

OR

Name any two Gallantry Awards which are awarded for displaying
bravery in the face of enemy during peacetime.

Write a short note on troposcatter communication. 2
OR

Enlist the frequency range of Radio Set GP338 Motorola in very
high frequency and ultra high frequency modes.

How many types of North are there ? Name them. 2
(a)  What are the types of bearings ? 2
OR

(b)

What is magnetic variation ?

# 13 P.T.O.
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(a) (1) Enlist any four methods of judging distance.

(ii) Explain the difference between the terms “cover from view”

and “cover from fire”.
OR

(b)  Enlist any two situations during war when exercising voice control

over troops may not be possible. As a Section Commander, what

would you do to pass orders to your Section ? 242=4

SECTION - F

Read the paragraph and answer the questions given below :

Though on 11 December, Major General Rao Farman Ali messaged the
United Nations requesting for a cease-fire, it was not authorized by
President Yahya Khan and the fighting continued. Following several
discussions and consultations, and subsequent attacks by the Indian
forces, Yahya Khan decided to stop the war in order to save the lives of
the Pakistani soldiers. The actual decision to surrender was taken by
Lieutenant General A.A.K. Niazi on 15 December and was conveyed to
General Sam Manekshaw through the United States Consul General in
Dhaka (then Dacca) via Washington. But Manekshaw replied that he
would stop the war only if the Pakistani troops surrendered to their
Indian counterparts by 9:00 a.m. on 16 December. Later the deadline was
extended to 3:00 p.m. of the same day on Niazi’s request. The Instrument
of Surrender was formally signed on 16 December, 1971.

(a)  Who was the President of Pakistan during the India-Pakistan war
of 19717

(b)  When was the actual decision to surrender taken by Lieutenant
General A.A.K. Niazi ?

(c) On which date was the Instrument of Surrender formally signed ?

(d)  Who was the Indian Chief of Army Staff during the 1971 war ?

~

# 15 P.T.O.
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PART -2
(Specialized Subject) - (Navy Wing) (21 marks)
SECTION -D
Choose the correct answer : 5x1=5
1) Where is the headquarters of the Unified Command located ? 1
(A)  Kochi (B) Mumbai
(C)  Port Blair (D) New Delhi
(i1)) A bomb which explodes on hydrostatic principle is called : 1
(A)  Depth charge (B) Missile
(C)  Sonobuoy (D)  Rocket
(iii) The angle between the magnetic meridian and the direction in
which the magnetic needle actually points is called : 1
(A) Variation (B) Deviation
(C) Meridian (D) Log
(iv)  The temporary joining of two ropes together is called : 1
(A) Cable (B) Hitch
(C) Bend (D) Knot
(v)  Assertion (A) : Phonetic alphabets are used in radio telephony to
ensure clarity and exactness of messages.
Reason (R) : Some alphabets sound very similar, especially on
radio circuit, causing confusion. 1
(A) Both Assertion (A) and Reason (R) are true and Reason (R)
is the correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R)
is not the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.
# 17 P.T.O.
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SECTION - E
16. Write a short note on Magnetic Anomaly Detection (MAD). 2
17. (a) Explain Secondary Zone of Damage. 2
OR
(b)  List down the potential reasons for damage and flooding to occur
on a ship.
18. Write in brief about Gyro compass. 2
19. (a) Which are the most suitable woods for ship and boat modelling ? 2
OR
(b)  How is the performance of power models assessed through straight
run test ?

20. (a) Enumerate the duties and responsibilities of the following
Principal Staff Officers :

(1) Vice Chief of Naval Staff (VCNS)
(i1) Chief of Material (COM)

OR
(b)  Enlist any four persons for whom the honour of piping the side is
done on a ship. 4
SECTION - F
21. Read the paragraph and answer the questions given below : 4

Women are eligible to apply for Short Service Commission in Law, ATC,
Observer and Education and Naval Architecture. The duration of Short
Service Commission is 10 years, extended to 14 years. The training of
officers selected through the above entries normally commences in
the months of July/January every year. Advertisements calling for
applications from eligible candidates are published in Employment News
and important Newspapers in April to June and September to November
every year. The selection procedure includes UPSC examination (for
NDA, 10+2 Cadet Entry and GSES Scheme), interview at Service
Selection Board and Medical Examination. University Entry Scheme is
applicable for Final Year students only. The above information is a broad
guideline and is subject to change as per the induction requirements of
Indian Navy.
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(a)

(b)

(c)

(d)

What is the maximum duration of service of Short Service

Commission in the Navy ? 1
(A) 12 years (B) 14 years
(C) 24 years (D) 20 years
How many times are advertisements published in a year for entry
in the Navy ? 1
A 1 (B)
<© 3 D) 4
Can a student of III semester apply for University Entry Scheme ? 1
(A)  Yes (B) No
(C) Maybe (D) Do not know
Which agency conducts written examinations for entry in the Navy
as an officer ? 1
(A)  Staff Selection Commission
(B) Human Resource Commission
(C)  Union Public Service Commission
(D)  University Grants Commission
PART -2
(Specialized Subject) - (Air Wing) (21 marks)
SECTION -D
15. Choose the correct answer : 5x1=5
The letter ‘E’ is identified in RT procedure as : 1

(i)

42-1

(A)
(©)

#

Eagle (B) Edge
England (D)  Echo
21
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(i1)

(iii)

(v

(v)

)

#

Meteorology helps in which of the following aspects ? 1
(A)  Construction of airfields (B) Designing of aircrafts

(C)  Flight planning (D) All of the above

Which of the these is a transport aircraft ? 1
(A) IL-76 (B) MI-26
(C) Kiran (D) MI-17

Operation Safed Sagar was the code name assigned to the Indian

Air Force’s strike to support the ground troops in which war ? 1
(A) 1948 (B) 1965
(©) 197 (D) 1999

Assertion (A): Maps and charts are used for plotting and

planning purposes in navigation.

Reason (R) : It is essential to wunderstand various scales,
symbols and methods by which relief features are
represented in a map for effective planning and

subsequent reading. 1

(A) Both Assertion (A) and Reason (R) are true and Reason (R)

is the correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R)

is not the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

23 P.T.O.
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SECTION -E
Write the full form of RADAR. Name the various types of RADAR. 2
(a) List the various Air Traffic Service Units. 2

OR
(b)  Interpret the objectives of Air Traffic Services.

(a) Enlist any two types of armaments carried by Hindustan
Aeronautics Limited Dhruv helicopter. 2

OR
(b)  Write a short note on Chetak helicopter.

Name the different branches of the Indian Air Force. 2
(a)  Draw a diagram of the forces acting on an aircraft during flight. 4
OR

(b)  Explain Bernoulli’s principle.

SECTION - F

Read the paragraph and answer the questions given below : 4

Construction plans are provided normally with all model kits. These
should be studied thoroughly. Then follows the shaping of various parts
using sandpaper and sand blocks as shown in the blueprint, after which
the whole plan is fixed on the drawing board. Then the whole drawing is
placed on the blueprint and it is made sure that it is proper as per the
blueprint. Parts are then assembled together as per the dimensions
provided in the blueprint. Dope is applied with brush but only in thin
coats, two to three times. The excess dope is then sanded using a fine
emery paper.
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1)

(i1)

(iii)

(iv)

#

Blueprint is the of an aero model.
(A) Imaginary (B) Actual
(C)  Dummy (D) Drawing

Various parts of the aero model are shaped by using :
(A) Plier (B) Hacksaw
(C) Sandpaper and sand blocks (D) Scissors

How many times is Dope applied with brush in thin coats ?
(A) 1time (B) 5 times
(C) No limit (D) 2 -3 times

should be thoroughly studied before Aeromodelling.
(A)  Aircraft (B) Construction plan
(C)  Helicopter (D) Ships
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